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Vocabulary

x-Intercept
standard form
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Movies Mrs. Hodges spent $80 on movie tickets [emEIWCast Mathematical Practices

and drinks for her son and his friends. The total 1,3,4
ticket $8 o
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cost of x movie tickets and y drinks is represented of
by the equation 8x + 4y = 80. drink $4 ! Rt
1. Complete the steps below to write the equation in
slope-intercept form. }‘
8x + 4y = 80 ' -
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2. Graph the equation.
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% 3. What does the point (0, 20) represent?
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S The x-Intercept of a line is the x-coordinate of the point where thfa graph
SR I} crosses the x-axis. Since any linear equation can be graphed using two
—- points, you can use the x- and y-intercepts to graph an equation.
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intercepts to graph the equation.
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q; L Graph the points (6, 0) and (0, —9) on a coordinate @L'i :

. ! plane. Then connect the points.

T T S s 5 o o L T ey

b=y (b, D) L
-- yanEs L

LJL
P
Pa
bt

?éa\_-_iL"L o

___ ._;f_-iﬁ'r - 5 [Ga'l‘ T+7 Do these problems to find nut.“ i (O‘ I?) (0 g)
g =l £ R L
WL :ffi,ﬂ% 3

S i)

T2

Jl.y'




